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02050 SUBROUTINE COPY( X,K,II,JJ,MJ1,MJ2,Y )
2

82898 S ... Make a copy of X on Y

02080 C

02090 IMPLICIT REAL*8( A-H,0-Z )
02100 DIMENSION X(MJ1,1) , Y(MJ2,1)
02110 C

02120 DO 10 1I=1,K

02130 I1 =1+ 1II

02140 I2 =1+ JJ

02150 DO 10 J=1,K

02160 10 Y(I2,J) = X(I1,J)

02170



29

ot tootdootdubtd
oot

9.1 OOO0booboobboobood

000009.10 FILTERD (9.1)0(9.2)0 0000000000000
000000000000000000000FO0GOHOOO nO000ODO
00000/=1000000000000HO0 mO0O0O0O0O00O0OROO
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O000000O0O0C0OONPEDODCOOOCO OO0 NFE<NPED NFE<N
D00000000OMOTAU20AR(I) O00O00 AROOOOOOOO
000000000000 0UTMINDOOUTMAXD 000000000000
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